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Aufgaben-Quickname: 6380

Aufgabe 1
Quick:
6380

Ergänze die fehlenden Angaben.

Maÿstab In der Darstellung In der Wirklichkeit

1:100000 3 cm 8 mm 3 km 800 m

1:500000 1 dm 3 cm 4 mm 67 km

1:10000 2 dm 5 cm 4 mm 2 km 540 m

1:10000 1 dm 7 cm 1 km 700 m

1:125000 2 cm 2 km 500 m

1:50000 3 dm 5 cm 8 mm 17 km 900 m

1:50000 1 dm 4 cm 1 mm 7 km 50 m

1:10000 3 dm 8 cm 2 mm 3 km 820 m

1:250000 1 dm 7 cm 3 mm 43 km 250 m

1:250000 1 dm 6 cm 4 mm 41 km

Aufgabe 2
Quick:
6380

Ergänze die fehlenden Angaben.

Maÿstab In der Darstellung In der Wirklichkeit

1:50 6,8 cm 3,4 m

1:20 7,2 cm 1,44 m

1:10 7,4 cm 7,4 dm

1:50 6,8 cm 3,4 m

1:100 1,07 dm 10,7 m

1:20 1,36 dm 2,72 m

1:5 9,7 cm 4,85 dm

1:20 1,04 dm 2,08 m

1:100 6,4 cm 6,4 m

1:10 4,2 cm 4,2 dm
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Aufgabe 3
Quick:
6380

Ergänze die fehlenden Angaben.

Maÿstab In der Darstellung In der Wirklichkeit

1:50000 120 cm 6000000 cm

1:10000 84 dm 840000 dm

1:50000 327 dm 16350000 dm

1:50000 127 km 6350000 km

1:125000 293 m 36625000 m

1:50000 333 m 16650000 m

1:250000 248 m 62000000 m

1:100000 328 km 32800000 km

1:500000 25 km 12500000 km

1:10000 96 m 960000 m

Aufgabe 4
Quick:
6380

Ergänze die fehlenden Angaben.

Maÿstab In der Darstellung In der Wirklichkeit

1:125000 6 cm 4 mm 8 km

1:125000 4 cm 3 mm 5 km 375 m

1:50000 1 dm 4 cm 5 mm 7 km 250 m

1:50000 2 dm 4 cm 8 mm 12 km 400 m

1:125000 1 dm 6 cm 2 mm 20 km 250 m

1:50000 3 dm 1 cm 5 mm 15 km 750 m

1:50000 1 dm 2 cm 7 mm 6 km 350 m

1:250000 2 dm 5 cm 5 mm 63 km 750 m

1:100000 3 dm 8 cm 6 mm 38 km 600 m

1:250000 1 dm 9 cm 7 mm 49 km 250 m

Viel Erfolg!
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